TOTAY

> Howme work C‘n (4 CV

Z)LET’S MALE  WooD ALcodot
RY 'DESHZUCH\/E DISTILLA'I?(M/
OF WaooD ! (Teacker Demansirain)

39 NoTeS

Fndqj @uxa WEMESMY © Tz ST
FiNaL EXAN 1 Covers everythitg, Stad fev:ewliﬁ Now,

W How'DO Wwe

Calculode MOLECULAR MASS? -

W CoPY THIS RuT co(agec'l:
'THE u&ouG NUMBER 2

(; 02 ‘0 Fo‘\’oSS\uM a'\bms
\Ne‘ﬁ\,\s 2.0\ 3ram5




#]| W S e MpSS oF
6.02*\10  MotecyLes o
Wood AL CoHoL?%

The Formutla 15 CH,O
low Yo calentde e Molor
MasS.

@ | o [x12.01=12.0/ 255

SfAMS

W omg ‘%l.Olﬂ{O‘i fale
e f%vlé,m:[é.m%

5
37.05 %




: ey
Counting Atoms X g Name j
CAeMis+r ison k12 wins v '
: s ¥ Period

NOTE: YOU WILL NEED A PERIODIC TABLE TO ANSWER MOST OF THESE QUESTIONS

1. Our next testis we‘l(!.‘____ﬁ__. It covers [—N@jﬁ%‘:ﬁ Sl\[th Jm"mj B'H/‘ &

2. Assume that pennies have a mass of 2.1 g for one penny. Recall that 1 gross is 144 things. Also, from today’s
class notes, recall that 1 mole is 6.02x10% things.
a. What would be the mass of 501 pennies?

hol pennes 2.0 gmes | 10520 % 1100 groms
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3. How many pennies are there in 4.75 dozen pennies?

H. 75 dozen |2 penntes
clozen

4. How many pennies are there in 0.947 moles of pennies?\
| 04U molis .01 0% pennis S
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S. Assume that one mole of carbon atoms has a mass 0f 12.01g.  Also, from yesterday’s class notes, recall that 1
mole is 6.02x10% things.
What would be the mass of 55.55 moles of carbon atoms?

55.55~des (. I’& i,O\ gams| GG F D s
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6. How many carbon atoms are there in 0.00000004440 moles of carbon atoms?

Y <02 .
i OM}JLQ.O{L l[o :::: - 1.67 "(O‘bc{\‘oms

. How many moles are there 56000 000000000 OO,Q/QQ{ carbon atoms?
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8. One mole of atoms is G 200 | 0 atoms. This number is called Avogadro’s
number. Avogadro's number of particles is referred to as one mole.
9. Write a conversion factor for the number of carbon atoms in one mole of carbon.

273
1 mole C atoms = Q‘DZK‘O Catoms -, ‘f
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What is the mass of one mole (Avogadro's number) of carbon atoms? *
‘ +rom the  pelivdic %Lle)

The mass of one mole is often called a molar mass. They can be written as conversion factors too! Write a
conversion factor for grams of carbon to moles of carbon.

1mole C atoms = ‘2— ‘0\ gof C

Suppose that 3.01 x10% atoms of carbon are needed for a particular reaction. Set up a calculation to
convert this number of atoms to moles of atoms.
23
2.0\ x 10" afons
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Calculate the mass of 9.7 x10%° carbon atoms. Q)((r\o
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We can also convert the other direction.. A pencil contains 8.6 g of graphite (carbon). Change this from
grams of carbon to atoms of carbon.

8.6 dfoms , moles é O’L ‘0 atoms L‘I,?) x ,Ozza&omf

2_ K 0] grams l moles

How many atoms of carbon are there in 0.008324 g of cnrbon"
0.0083%74 9 | moles é OZ"‘ atoms L( ’? Z l'ozo aForms

|2.0l grams | moles | —

Calculate the mass of 6.980 x10?° carbon atoms.

[ Gﬂ%xﬂowé&ﬂ I molesl (2‘0‘ gramsl
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Convert 0.00960 g of graphite to atoms of carbon.

l 0.00960 3| \ moles | Gooleoaztfmsl
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1. For water...

How would you According to the periodic table, what is the | Find the mass of 4.05 mqles of this
draw one mass of a mole of this molecule? molecule.
molecule?
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2. For nitrogen...

How would you
draw one

According to the periodic table, what is the
| mass of amole of thissmolecule? |

Find the mass of 1,003,000 molecules of

=190 sm%o/e )

molecule?
N Pibus 21400 Y
___————"’/ ’
03 oo mole eufe S 3
Q lOZ 28023rams q o
3. For bromine...

How would you According to the periodic table, what is the | Find the mass of 56.9 moles of this .
draw one mass of a mole of this melecule? molecule.

molecule?

g

7x32.904 = |69 868 Yol
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56 Jnwlsy (2% ”85> = 9090 jrams

4. What would be the mass of 3.08x10" atoms of nickel?

3 080" atoms L
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